Hint: answers can be upwards, downwards, forwards, backwards or even diagonal!

d | Canyou find the following words in the grid?

O & :
.2 res
S 5 3
o= ..<Iu d”m <
—— @ % © D T o o
@ = v o 0 == g ¥ T =
X200 O £t aapg VS
SobwosS5ocggE=
[ T & - 3 Q O o
@ o oL LWwLEwLXXT 3y 3Z0a
o
pd V| OV V| |(0|V| v |T||—-Q0
@ —lo|g°o|lajlgw |9 Oun|lal%v|clala
P W .IdnlupbprUSdSCU
m@ @ Ol—|4+|+|0|c|3|0|>|X| || O|'=| |y
@ +| ol -| 0|l | X | oo—| S|+ |0 |>% |0 |-
OS> oyle|>n S>> wn >0 W
N |l = O >>|>|=0|C| TJ|+|0|0|0C |0 | c
ol&|Qjo|—|—|3J|+|"—|O0 ||V O |+ O
—|lolo|l<=|= |9 a|>x=|>|+|a|-|V|c|0
viclx— EI 2wl o| =N+ |"|X|c| ®
ﬁﬁ >+ 3|V o|lwn|c|o|og|—|n|T |V N ols+|o
@ V| o+ |Ou|>|c|alv|o|> >0l 3w
% |V oY N X OwW o v o+
Q%Q X c|le ||| = |E|l|T|w |3 |><c||c
MQV/O -|l—|O|t|X|>| 0| |X|TD|C|ao|wn al E|>
g@é@ v|olw|o|o|lv|ole|v|w|+|o|+|-|0]|c
G000
o Q
5,50

£




